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No. of Questions/q¥] Ft F&AT : 100
No. of Pages for Questions/S&il & T8I @t ¥eAT : 23

Time : 2% }{ours} [ Full Marks : 300

w7 - 21 w2) [ gorfe : 300

Note: (1) This question booklet contains 100 (hundred) questions in all
(30 in Section ~ A and 70 in Section - B). Attempt as many questions
as you can, Each question carries 3 marks. One mark will be
deducted for each incorrect answer.

Zero mark will be awarded for each unattempted question.

0 TE-gRaeT ¥ g 100 (&) e € (@ve — & ¥ 30 7 @vs — 9 ¥ 70) |
ABIAD Weel DI o BT B YU B | YAD FIH 3 B B ¥ | FAD
THT GTX P foI7 U SF PreT AT TAS ARG U @ WS

I B |

(2) If more than one alternative answer secm to be approximate to the

correct answer, choose the closest one.

ufg gl dofeds STR 98 9N & ke B o) Aeedy 98 9ov ¢ |
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1.

SECTION - A
G us - y

First Education Minister of free India was :

(1) §. P. Naik (2) Maulana Azad

(3) K. L. Srimali (4) Vijaya Laxmi Pandit
WA qRA & 9o R #3 BH 9 7

(1) o o ATAH (2) Hrarr arang

(3) Po Tedo Sfmreh (4) fasra @et dfEa

Which of the following is not a Central University ?
(1) H. N. Bahuguna University Garhwal, 5ri Nagar
(2) Allahabad University, Allahabad

(3) Pt. Ravi Shankar Shukla Raipur University

(4) Guru Ghasidas University, Bilaspur

o % & o9 o=y Rwfdeey 782 °

(1) Tdo Yo FEON eard fawafdency, SR

(2) saEER fawEidaey, s

(3) Ho T wigw yaar WYX fdeafdercra

(4) T5 adew Ryaferay, RAamgR

The latest National Curriculum Framework by NCERT came into existence in :

o Ho Fo Re o ERT TR & TE AHTaH IS UIGAHH B HRET Y
afareg ¥ ang ?

(1) 2000 (2) 2004 (3) 2005 (4) 2008

National Knowledge Commission was headed by :

(1) Prof. Yash Pal (2) Kapil Sibbal

(3) Sam Pitroda (4) Prof.]. S. Rajput
TSR S ST 6 37T B of ?

(1) NBER I (2) siva R

(3) W fgir (4) WMHER To THo IeTqd

(2)
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5. Which of the following is not correct in reference to ‘Right to Education Bill' ?

(1) Every child between the ages of 6 to 14 years has the right to free and
compulsory education.

(2) Private schools shall admit at least 25% of the children in their schools
without any fee.

(3) Fundamental right to education has been brought through 96th Constitution
Amendment Act.

(4) The national commission for elementary education shall be constituted to
monitor all aspects of elementary education.

en &1 sfeR Adwe @ g 3 = 3 o w8t F8 8 7

(1) 69 1499 & AT IAF P Ayed 1@ wfad fen & afer )

(2) wigde faeneg $9 / T 25% g=di P g Feraar d Mrged wdw <9 |

(3) Rem @ dfas R B 963 wiw™ weiem sfefram grt gfaa fasar

(4) yRfME e & ulw ud P AFCY IRA B S AT H ORI B
AT |

6. Article 46 of the Indian Constitution protects the educational interest of :
(1) Religious and Linguistic Minorities
(2) Women and Girl Children
(3) Scheduled Castes and Scheduled Tribes
(4) Special need Children
ey fdEr @ gRT 46 B R/ e ot & e Rl B e el @7
(1) enfi® qenm woig sregdeTs
(2) wfgem ug feramn
(3) srgegfod Sufa o STRf St

@) faf¥re ImEvgdEd 9 99D

7. Enriched programmes are useful for :

(1) Slow learners (2) Gifted children

(3) Learning disabled children (4) Deprived children
W Brime g B ¥

(1) 5= TRl & fog (2) vl =i & oy
(3) ™ Em grad B fHY (4) dfaq 9= & fog

(3) P.T.O.
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8.

10.

11.

India's first Open University is located at :

(1) Hyderabad (2) Chennai {(Madras)

{3) New Delhi (4) Kota

IR $1 qdyem ad (el el Red 2 ?

(1) =aae (2) o (sT)

(3) =T¢ [Rea (4) @Ier

Who has initiated pre-primary education in India ?

(1) East India Company (2) Christian Missionarics
(3) Raja Ram Mohan Roy (4) Gopal Krishna Gokhalc
AT # gd-wrafie Ren @ gea e @ of ?

(1) < sivsm awh 3 (2) $ord feaRat =

(3) AT FAEA Y A (4) T Hw TES A
‘Taxshila’ was centre of Education during :

(1) Vedic period (2) British period

(3) Buddhist period (4) Medieval period
eI & wa F Ren @ o oo ?

(1) IRF @@ 4 (2) fafew T A

(3) d9Ig @ra H (4) Rem @1 §

According to you, a good teacher should be :
(1) highly intelligent

(2} having genuine interest in his students

(3) living a simple life

{4) having mastery over subject he teaches
AUG FTAR Ud =3 e &) @r & =iy ?
(1) afy Aurdt gr

(2) 7T ol § wed) ofd Xl

(3) wxe it fFell w@

(4) I 9T W arel fdwy & oo ger @

(4)



12.

13.

14.

MSEB/102/19 {(Set - )
Good teaching is best reflected by :

(1) pin-drop silence in the class

(2) high attendance of students in the class

(3) large number of distinctions in the subject amongst students

(4) meaningful questions asked by the students

a0 f¥wror @1 wafom Haea J ® ?

(1) T&T A ThgA i Bl

(2) e ¥ Rrenfhi @ s s § uRaR

(3) 99 vy § RQefshy =) e dE@r 4 ftre oF (SREwM) wra &=
(4) ©E gRT Fd-qui yE gue

The main objective of classroom teaching should be :
(1) to help students pass examination

(2) to feed information of students

(3) to develop personality of students

(4) to make inquiring mind of students

el @1 &1 0 9w w1 gl ey ?

(1) Bt @Y T et @R N wEd B

(2) BIFE & THGR UG ]

(3) BE © AfFa & RPN A

(4) BT DY foremg T

As a teacher why would you ask questions from students during teaching ?
(1) To know whether students are éarefully listening you
(2) To know whether students understanding it properly
(3) To know who is the brightest student
(4) To help the students
v Rmd © w9 | Rewr & 9 T weT & g gt ?
(1) g8 9= & fag i Rerll arurigds ammer g7 @ @
(2) g 9 & fog % ferf $8 76 So-dw waw @ §
(3) @8 9 & oy & wed dendt el oF §
(4) B & FEEA FR 2g
(5) P.T.0.
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15.

16.

17.

Which teacher will you appreciate most ?

(1) Who knows the problems of students and helps them
(2) Who has strict control over his students

(3) Who is very friendly with students

(4) Who has a charming personality

g firere o7 Ay wE WIET g aN ?

(1) e o fenfial & ol & a8 iR I9@) "ag Fe @
(2) g8 a1 feenfid w wer v v @

(3) g o BT ¥ Mead @EER @

(4) 98 S WHYF AfFaq qren ©

The most important challenge before a school teacher is :
(1) To maintain discipline in the classroom

(2) To design good question paper

(3) To make teaching-learning process enjoyable

(4) To make students do their home work

e Rrererh fiw @ fog ae9 e g gar B ?
(1) e # SR i &R

(2) 30 U¥I-UF @ ARt S

(3) f¥wror yfem\ uftvar &1 ama_ye 990

(4) faenfial @ wesrd HRamT

Effective teaching by and large is a function of :
(1) Teacher's honesty
(2) Teacher’s scholarship
(3) Teacher's making students learn and understand
(4) Teacher's liking for the teaching job
wrd Rrerer wmrgerr fwer oo @ 2
(1) s & o
(2) frerr & fagen
(3) Rt &1 Renfiaf ® Gres @ g9sm 3 9wa @0
(4) foerw &1 e a1 & wfa =g /<
(6)



18.

19.

20.
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Which of the following should be most important for a good teacher in  class ?

(1} Classroom disciplinc (2) Subject being taught
(3) Time available for teaching (4) Students of the class
Fe ¥ ared R » forg A § 9§ Wt weegef =0 8 =fee ?

(1) HENHET HT FIITHA (2) fav < ugwEn 1 IE 8
(3) UM & forw Iuerar W Y (4) He B BIF

Which of the following teachers will you like most ?
(1) A disciplined teacher
(2) A tcacher who often gives class notes
(3) A teacher with high level of knowledge
(4) A loving teacher with effective teaching skills
ang = et 3 A P8 a9l 30e gu< e ?
(1) w& st fRmyas .
(2) TF A e Y W we W AR qdr &
(3} U Rwre Rras o9 St «R & 91 ©
(4) wdl EvLwEE ¥ IH P dgad RiEs
Development of moral values among students is very important. What would
vou do to develop the same ?
(1) Display stories based on moral values
(2y Present vour-self as a role model
(3} Fncourage moral values related works
(4) Organize lectures related to moral values
it ¥ ARre T BT RE Tgd e 21 gud Rerd ® Ry A 7@ o ?
(1) e geat i) anelRa wertat & gy &
(2) JTH-AMT P U ey yRrE © 9§ o BT
(3) AP i ? Al B B AR
(4) e gedl 3 Wafg aREmE B AT B
(7) PT.O.



MSEB/102/19 (Set - 1)

21.

22.

23.

24,

25.

A person starts from his house and walks 100 meters straight towards South,
takes a left turn and walks 75 meters straight towards East. How far is he from
the starting point ?

(1) 175 meters (2) 125 meters (3) 100 meters (4) 25 meters

e @fdd g ox W <R e ¥ 100 Wex e TEw 81 R 9 e 19 R
T AR 75 Wex W 9ad 71 98 o9 WA A g ww g ?

(1) 175 #ex (2) 125 Hiex (3) 100 #Mex (4) 25Mex

Anand is older than Shashank but younger than Rohan. Dhanashree is younger
than Seema but older than Rajshree. If Rajshree is older than Shashank, who
amongst them is the oldest ?

(1) Rohan (2) Seema
(3) Dhanashree {4) Can not be determined

AT WNE H 9H W 99l 8, Wy A ¥ v & gl AW 4 o) @ e woni
¥ I 2| IR TN EE W S €, A 39 I SH F G g9 DA B 7

(1) I8 (2) =

(3) &7 =R (4) & udr A o gaar §

Five boys are sittings in a row. A is on the right of B. E is on the left of B but he
is on the right of C. A is on the left of D. Who sits first from the left ?

Ifg ded UH ufdd ¥ S B A, B® Tfen 81 E, B® I B, «fda C 3 aifent 21
ADS I 8| 9 ¥ 999 UBA HIF do1 & 7

(1) D (2) C 3) A 4) B

Which one number can be placed at the sign of interrogation ?

geTarEd RrE (7) @ WM W BA-9) 9 9 o 9a6dl 8 7

15|65
1313169
B l2]|°7?
20 | 7 | 13

(1) 1 (2) 4 3 6 4) 7

If X' means 'sum'; '-' means ‘division’; + means 'subtraction’ and '+ means
'multiplication’ then which of the following equation is correct 7

afE 'x' FT Aqdd WS B, - B A9 9T 2, + BT HAGd el & gl + Bl
waed U 8, 99 A § P wiiene wet R ?

(1) 16+5-10x4+3=9 (2) 16-5x10+4+3=12

(3) 16 +5+10x4-3=9 (4) 16 x5+10+4-3=19

(8)



26.

27.

28.

29.
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In a certain code R + $' means R is brother of S, 'R — S’ means R is mother of 5
and R x S' means R is the father of S. Which of the following means G is the
nephew of H in that code ?

fodt e T ¥ R+S H e & : R, S&1 9E 8 R-S' &1 3d 8 : R, S wran @
qT'RxSH 3 &: R SH fam 2| = & @ 35 a2 & IR o o 2 (5
G, H &7 weiar 8 7

(1) G+KxH (2) GxH+K 3) H+K+G (4 H+KxG

From the given alternative words, find the word which can not be formed using
the letters of the given word : ESTABLISHMENT

f2a v =l @ fAeet ¥ B v Ry Uy ESTABLISHMENT & e’ &
FET T AT qFe B 7

(1) MENTAL (2) SHAME (3) ESSENCE (4y ESTATE

Harish ranks 16th from the top in a class of 49 students, What is his rank from
the bottom ?

(1) 34th (2) 33rd (3) 24th (4) 36th
49 fenffdl o Fer ¥ w9y & SR § 1637 W 81 A F ISP T WA B P
(1) 34df (2) 333t (3) 24dT (4) 36df

My brother is 562 days older than me, while my sister is 75 weeks older to him.
If my sister was born on Tuesday, on which day was I born ?

(1) Wednesday (2) Tuesday (3) Monday (4) Sunday

I e TR 562 fEq g9 & weie A g SUW 75 WWE 991 ¥ SR W A
Frar w Yqr ge ¥, N A fFw R Y gan ?

(1) TER (2) HTAR (3) 9WaR (4) Maar

ABDH is related to ZYWS in the same way as EFHL is related to :

ABDH 579 o ZYWS ¥ Haftg & 90 yeR EFHL f&aw gafaa & 7

(1) VOSU (2) VUSO (3) USOV (4) TUSV
(9) P.T.O.
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31.

32.

33.

SECTION -B
L Lr- |

The IUPAC name of the given structure Q| is:
I

Br
(1) 5-Bromo-6-iodo-1-cyclohexen-3-yne
(2) 6-Bromo-b-iodocyclohexen-3-yne
(3) 6-Bromo-5-iodo-3-cyclohexen-1-yne
(4) 4-Bromo-3-iodo-1-cyclohexen-5-yne

T4 A Q|?HIUPAC71TH'E:
I
Br

(1) 5-DA-6-MZEN-1-FRFARFI-3-31
(2) 6-FA-5-IFSAGFARIIA-3-§1

(3) 6-FM-5-3NgSI-3-HgFreadIA-1-§
(4) 4-FW-3-9TZSN-1-HS T e ITAA-5-849

What is the correct sequence of vapour pressures of 0.1 M aqueous solution of
FeCly, CaCly, NaCl and Glucose ?

FeCly, CaCly, NaCl wd @™ @ 0.1 M Siefe feasl @ 9 g9 61 a8
w8

(1) Glucose > Na(l > CaCl, > FeCly  (2) FeCly > CaCly > NaCl > Glucose

(3) CaCl, > Glucose > NaCl > FeCly (4) NaCl > CaCly > FeCly > Glucose

What is the Co-ordination number of «cobalt in [Co{en);]Cls
(en = ethylenediamine} ?

[Co(en)3]Cl5 (en = ethylenediamine) % ®atee B | WAGIH Hedl #1 & 7

(1) 4 () 6 (3) 2 4 3
(10)



34.

35.

36.

37.

MSEB/102/19 (Set - I)
The correct decreasing order of electronegativity of orbitals is :

Sudrelt § fAe orcdar $T T UTaT g’ HH BT 8 P
(1) s>9p>sp2>p (2) s>sp2>5p>p

(3) s>p>sp>sp2 (4) s>p>s.p2n>sp

In which of the following process entropy decreases ?

(1) Melting of ice (2) Condensation of gas
(3) Vapourization of camphor (4) Rusting of iron

= % & 9% wpn 1 TR ved 7 ?

(1) % &1 freeEr @) 19 B Fo

(3) DR H AU (4) % § ST

Which one of the following is amphoteric in nature ?

& ¥ o owgudt & 7
(1) ALO3 (2) ByOs (3} ROs 4) CrOs

Which one of the following is most acidic ?
(1) 2-Propanol (2) 2-Methyl-2-propanol

(3) Ethanol (4) Methanol

= & ¥ P9 walte arelig & ?
(1) 2-9= (2) 2-fegd-2-9uHTe

(3) weHfe (4) AT
(11) P.T.O.
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38.

39.

40.

41.

42.

The activation energy of an exothermic reaction is 40 kJ mol 1 If heat change

(AH) of the reaction be — 30 kJ mol “1 the activation energy for the reverse
reacton is :

(1) 70 kf mol™! (2) 40 kf mol™

(3) 30kf mol™! () 10 kf mol™

e e aifafirar @t |ihgwr Soit 40 fFo S Wiy M ) 9fE gw aiffaman &
W(AH)—?)O Bro u[@ WY Al & o opd SR 3 R0 wibae o
(1) 70 f¥o S A1 (2) 40 f¥o S A~?

(3) 30 f¥o S AF1 (4) 10 f¥o T A1

Which one of the following is the weakest acid in water ?

Frer & & @i it § o s By ?
(1) HCI (2) HF (3) HBr (4) HI

Which one of the following halides undergoes solvolysis most easily ?

ey tagsl A ¥ -9 TdTEe &1 99 AraH A RdEe e 2 g ?
(1) C¢HsCH,Cl (2) CH, =CH—CH,CI
(3) CH, =CH-CHC(CI-CH, (4) (C¢Hs)3C—Cl

At absolute temperature T the root mean square velocity of .a gaseous molecule
is proportionatl to :

ga T oR e f & o] &1 gt Ary gof S FEeguR g 2

1 T @ T @ JT (4) 1/T

What is the structure of ICls ?

(1) Linear (2) Triangular

(3) Tetrahedral (4) Trigonal bipyramidal

1Clg @ €9 7a1 8 ?

(1) Faw (2) Bt

(3) =ThADI (4) fFieira g
(12)



43. In the following reaction

CHj,

Cl

the major product X will be :

e afafehar &

CH,

Cl

7 IAE X BN

CH,

NH,
(1)

CHj,
(3)

NH,

MSEB/102/19 (Set - 1)

() NaNHp/lig. NH3

Gi) HY

(i) NaNHj/liq. NH3 _

X
() HY
CH,
(2)
NH,
CH,
(4)

(13) P.T.O.
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44. A certain quantity of electricity is passed through aqueous solution of AgNO;

45.

46.

and CuSO4 connected in series. The amount of Ag (atomic weight = 108)

deposited at the cathode is 1.08 g. What is the amount of Cu deposited at the
cathode (atomic weight of Cu = 63.53) 7

(1) 1.27¢ ) 0317g (3) 0.635¢ 4) 3177 ¢

gofisp § e AgNO; AR CusSO, & Fiehy Rl ¥ Ry &t vo w6 wafea
Hl OER € R HAS W I Ag (U009 IR = 108) N H0 1.08 WH 2 7 D
W T Cu (G0 MR = 63.53) B A3 gefY

(1) 1.27 14 (2) 0.317 " (3) 0.635 7™ (4) 3.177 7

Lithium exhibits diagonal relationship with :

ANan s gy e g waqr & ?

(1) Al (2) Na (3) B 4) Mg

Which one of the following reactions can be used for the preparation of p

hydroxyl acid ?
(1) Perkin reaction (2) Reformtasky reaction
(3) Aldol condensation (4) Claisen condensation

e # @ oA SRy & gr1 B-eTegiedd 37w g9 o Wear 8 ?
(1) w=feT sfafear (2) Rotreras afafFar

(3) TSI TgAA (4) @G WO

(14)



47.

48.

49,

50.

51.
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The emf of the cell Pt, Hy(1atm)| HCI(0.1 M)] | HCI(1M)| Hp(1atm), Pt at 25°C

would be :

Pt, Ho(1atm)| HCI(0.1 M)| | HCI(IM)| Hy(1 atm), Pt A &1 25°C 0¥ faggeare
CR 'E_?PTT :

(1) 29.5mV (2) 59.0mV (3) 88.5mV (4) 118.0 mV
0; is:

(1) Diamagnetic (2) Ferromagnetic

(3) Paramagnetic (4) Antiferromagnetic

03 (e1g SfFie Homg) ¢

(1) ufa g (2) <e g

(3) IqgEPI (4) Sfyee g

Cooking on dry heat is known as :

(1) Stewing (2) Grilling (3} Steaming (4) Poaching
G a9 X geH o [y FEan €

(1) =& (2) fafer (3) w9 FR (4) afET (g

The percentage of endosperm in cereal grain is :

T D T H v b g O ¥ ?
(1) 24 (2) 63 (3) 83 (4)90

Which vitamin is water soluble ?
(1) Vitamin A (2) Vitamin B (3) Vitamin E (4) Vitamin D
ot ¥ goaee RFefi 2

(1) feef= g (2) faefa & (3) faerfa= & @) faafim &
(15) P.T.O.
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Kwashiorkor is caused due to deficiency of :

52.

53.

54.

55.

56.

(1) Protein and Calorie
(3) Mineral

FRERGR fFud o @ FRT BAar & 7

(1) W AR daAN
(3) fAe~a

The height of cotton plant generally is:

(1) 12 feet (2) 2-3feet

IR $UNT & 9 @ F\1g Bl &

() 19 2% (2) 2 3

Wool is a fibre which is :

(1) Natural

(3) Regenerated Cellulose

F UF UHR HI L S e @

(1) wrepfers
(3) grtiT dgena

Mainly dyes are of :
(1) Onetype

" Wh () P UBR & ¢
(2) &

(2) Twotypes

(1) t®

Worsted. fabric consists of the fibre :

(1) Cotton (2) Rayon
TS T W W g1 B
(1) Ifr (2) =

(16)

(2) Fat
(4) Carbohydrate

(2) 9=

(4) PratETERT

(3) 3-4 feet {4) 4 -5 feet
(3) 3W4we (4) 4] 5%
(2) Manmade

(4) None of the above

2 P
(4) Swyw Dig . TE

(3) Threetypes  (4) Four types

(3) @ (4) =R
(3) Woollen (4) Viscous
3) s (4) frata



57.

58.

59.

60.

61.

62.

MSEB/102/19 (Set - I)
The classification of Extension Education does not include :

(1) Home Science (2) Agriculture Science
(3) Medical Science (4) Veterinary Science
IR R & affewor § witfea 787 2

(1) Tefem (2) P R

(3) Afewar wgw 4) oy fasm

Radio is an aid :

(1) Visual aid (2) Audio-visual aid
(3) Audio aid- (4) Projected aid
AT v T B

(1) 578 wmH (2) oI-qE W

(3) s QrA (4) MolgTs ARH

Home Science Education was started in India in the year :

(1) 1934 (2) 1935 (3) 1932 (4) 1940
Raad ¥ el Rew g g2 o
(1) 1934 % (2) 1935 ¥ (3) 1932 & (4) 1940 &

CARE was established in the year :

(1) 1946 (2) 1947 (3) 1950 (4) 1952
I P WAGH gs o
(1) 1946 % (2) 1947 ¥ (3) 1950 % (4) 1952 ¥

Which of these is not a principle of Extension Education ?
(1) Evaluation (2) Satisfaction (3) Readiness (4) Leadership
= A yaw fmn o1 figra a9 T8 E 7

(1) e (2) Hfe (3) TR () g
Extension Education brings change in the :

(1) Need (2) Attitude (3) Philosophy (4) Objective
yar R ggofd ardy &

(1) smaeaEar & (2) Téegs A (3) A # (4) Sgev H

(17) P.T.O.
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63.

64.

65.

66.

67.

Community Development Programme was started in the year :

(1) 1954 (2) 1952 (3) 1959 (4) 1960
TR faer Hrishs WReT gal o
(1) 1954 9 (2) 1952 % (3) 1959 % (4) 1960

Vitamin A is found maximum in :

(1) Spinach (2) Cabbage (3) Amla (4) Tomato
ferwmTR eI A 9 o 2
(1) ure® o (2) Tt | (3) e § (4) TwTex #

The art of flower arrangement has been developed by :

(1) Indians (2) Japanese

(3) Chinese (4) Pakistanis

Tl B GOE @ FeAl BT fIBr gan @

(1) IRt & gy (2) oottt @ g
(3) @A & g™ (4) wifRIRT & gwT

The author of the book "Management for Modern Families” is :

(1) Nickel and Dorsey (2) Gross and Crandal
(3) Nalini Ogle (4) M. K. Mann
"yorife BR dre Sfreler Twe frare e gR R ud §
(1) fAfra i Swit (2) uiw TUs Hed

(3) =ferd airer (4) wHo o A

The energy currency of a cell is called :
(1) Mitochondria (2) RNA (3) DNA (1) ATP
HIRMET § FHot A gw1 ¢

(1) AT (2) Mo Yo Yo (3) o THo Uo (4) To Fo
(18)



68.

69.

70.

71.

72.

73.

MSEB/102/19 (Set - 1)
A plant cell differs from animal cell in the absence of :

{1} ER (2) Mitochondria
(3) Centrioles (4) Ribosome

ureq e fag § | fraer arquitefy & 9g @ | = 8 ?
(1) srweelt sferat (2) AgCIHIRgar
(3) IR® T (4) XEEEH

An enzyme is primarily a:

(1) Carbohydrate (2) Lipids

(3} Proteins {4) Complex compound
gosH T $9 A ST § -

(1) @EETERe (2) fafisa

(3) Fr= (4) sfea diftre

pH of human bloed is :
" &R & pH 8
(1) 6.2 (2) 74 (3) 9 (4) 10

Which vitamin is essential for blood clotting ?

IR D TR 973 § ol faemia &
(1) A (2) C 3) K (4) E

The stored food material found in muscle is :

(1) Protein (2) Glycogen (3) Lipid (4) Phosphate
e AR # I o aren o A oar @

(1) WA (2) BRI (3) fafre (4) wrwE

To get sufficient carbohydrate one should take :

(1) Meat (2) Rice (3) Carrots (4) Groundnuts
I B gl A ¥ FEERge W w3 @ R @F aiy

(1) = (2) wrae (3) TR (4) T

(19) P.T.O.
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74.

75.

76.

78.

79.

The end product of fat digestion is :

(1) Amino acids  (2) Starch (3) Fatty acids
T grael & afEdl Iwie

(1) 3T 3 (2) wie (3) a¥i et
A steroid vitamin is :

wigs faorf@ &

1 A (2) C (3) B

Which blood group is universal recipient ?
[IATE X E ®
1 A (2) B (3) AB

Myoglobin occurs in:

(1) Blood (2) Liver (3) Spleen
TR T e

(1) <& o (2) 9pa H (3) foreeir A
Ammonia converted into Urea in :

(1) Heart (2) Spleen (3) Liver
amfrar o gfar F FArORT Bk g

(1) g7 # (2) foreel § (@) @pa A
Androgen is :

(1) Gas (2) Hormone (3) Male flower
T 8

(1) ¥ (2) e @) Ry

A molecule of haemoglobin carries oxygen molecule :
AT B U 3] SifaRioT @ Sl @1 Hagd dRdl
M1 @) 2 (3) 3

(20)

(4) Glucose

(4) Te@IT

@ M

() O

(4) Muscle

(&) e AR A

(4) Brain

(4) "R #

(4) Male hormore

(4) R WA

4) 4



81.

82.

83.

84.

Which Vitamin is "Ascorbic acid" ?

Yeaifs® st BF-a1 faerha 2 ?
(1) A @2 C

Which of the following is present in chlorophyll molecule ?

e & 3 TRt 3o 3 Ear &
(1) Fe (2) Mg
Milk sugar is :

(1) Glucose (2) Fructose
ECRICaE

(1) @ (2) W

Aril represents the edible part in :

(1) Apple (2) Mango
e @™ drg T gk @
(1) |9 A (2) & |

Cruciform corolla is found in :

(1) China rose (2) Radish

PIEHY TAGA TrAT ST #

(1) IR 4 (2) A

Cyathium inflorescence is found in:

(1) Asteraceae (2) Brassicaceae

AIECfIrgn quEH U o @
(1) TeR=i A (2) s A

3) D

(3) K

(3) Lactose

(3) oA

(3) Litchi

(3) =idr #

(3) Sunflower

(3) wHgE #

(3} Papilionaceae

(3) YAl #

MSEB/102/19 (Set -1}

(4) E

(4) Mn

(4) Sucrose

(4) g

(4) Banana

(4) N

(4) Pea

(4) wex #

(4) Euphorbiaceae

(4) g 4

P.T.O.
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87.

90.

Plant hormone controlling fruit ripening is :

(1) IAA (2) GA (3) Kinetin
T B UHH W e qreT B

(1) IAA (2) GA (3) wrEAfes
In Opuntia, spines are modification of :

(1) Roots (2) Stem (3) Leaves
AME § P WAR R

(1) s @ 2 ™D OREED
DNA is present in :

(1) Chromosomes and Dictyosomes

(2) Chloroplast and Lysosomes

(3) Mitochondria and Chloroplast

(4) Mitochondria and Endoplasmic Reticulum
Tlo U0 Yo YA Il ‘% :

(1) Toga wd f¥faeaim 3§

(4) RSP Ud Fausdl ot
Azolla is used as bio fertilizer because it :
(1) Multiplies very fast

(2) Has associated with nitrogen fixing Rhizobium

(3) Has association with nitrogen fixing cyanobacterium

(4) Has association with lichen
(1) g P @ B
2) TEARER FN g e SR €
(3) SERfEEREH gRT AEEST AFHIERT Bl 8
(4) 39 AP I I @
(22)

(4) Ethylene

(4) 3

{4) Flowers

(4) ™D



91.

92.

93.

94.

93.

MSEB/102/19 (Set - 1)
Cyclic phosphorylation forms :

(1) ATP (2) ATP and NADPH
(3) NADPH (4) ATP, NADPH and O,
B BRBIRATT § g7ar 8

(1) ATP (2) ATP v@ NADPH

(3) NADPH (4) ATP, NADPH w O,

Removal of stamens during breeding experiments is called :

(1) Anthesis (2} Pollination (3) Emasculation {4) Anther culture
S Haferd v & qWY YHER] BT FSr T R
(1) wafya (2) wfermee (3) FHEHANA (4) TRR TR

Terminal end of chromosome is called :

(1) Centromere (2) Satellite (3) Kinetochore  (4) Telomere
orgE H1 3ifaw R seamn 2

(1) IfRR (2) deemze (3) PEIABR (4) Erenfr

Hydrogen bonds between cytosine and guanine are :

rEEFEFH @ i @ g g 9 B B
(1) 4 (2) 3 (3 2 4) 1

Nucleic acids are polymers of :

(1) Nucleotides (2) Nucleosides

(3) Nucleoprotein (4) Amino acids
fdera s faas oiferae & € ?

(1) gfemsiegsd & (2) feeaiged 3
(3) R & (4) T ape B

(23) P.T.O.
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96.

97.

98.

99.

100.

Monothecous anthers are found in :

(1) Mango (2) Cotton
THITA! RATHY I SR/ B
(1) a9 ¥ (2) ®UE ¥

Sadabahar belongs to the family :
(1) Apocynaceae

(3) Solanaceae

HeETHEN fheer § ?

(1) T

(3) e

(3) Neem (4) Wheat

(3) m# 4 g+

(2) Scrophulariaceae

(4) Malvaceae

(2) BPIGRARYH
(4) Hreddr

The standard size of Herbarium Sheet is :

ARy diie &1 AFE AR ® ¢

(1) 286x42 cm (2) 15x30cm

Gemma cup are found in :
(1) Marchantia (2) Riccia

WS Y 9T W R
(1) R~ & (2) Rftrgar #

(3) 35x51 cm (4) 20 x 25 cm

(3) Pinus (4) Azolla

(3) wrgE W (4) T 7

Birbal Sahni Institute of Palaeobotany is situated at :

(1) Lucknow (2) Delhi

(3) Chennai (4) Hyderabad

dREd AEA I Shared wYend ©Ef § 7

(1) dET% (2) faoeht

(24)

(3) A= (4) BTEg



agfefa & fog fdw

(9 QRTET B PUT FROLYS R FH IT-TH @ A g7 R badl Aoft/dicf} arer-@rge 47 3 & fAa)

1.

10.

11.

12,
13.
14.

g qRaer e @ 10 fire @ a=R @ <@ J % yrgm 4 @it o divg € AR @18
7o wer T8 21 YRaE Qg O A WROSHa] Al ot e A0ed B dex

U} geH FH GAR GRAE W R S |

. e oA A frerer ofdd pAv A @ FfoRew faar o Al Big N go anrl W

9 T |

 FWRTE q@T 9 R w2 39 T ot 7S o T & Aga X qEN SOy TET

R a1 Fad IAav-gF &7 & goeT [Far ardi

. U IPAIE T SUYA BT FNEG FYF FARO-YT w7 o7 @ Fuila @ w

fored |
UHEYT P FYH YO U¥ U9 § I Fgpe aiRa v o¥ ford aur iR fad gt

F WMET BY 1 Tl -] HGvAT § IET WY1 BT HH® AT WS BT TR
Sfea wart gv ford |

. Ao THo IRo UF W IHTie wxal, WeA-gRaF W g dc d@ (@ S 8 qen

weA-gRA®T WX AFHAG T AR o Wio ARe qF HEm @t wfafedt A guferaw @
sy a2

. 3w wfafedt & w1 ft uRedw s M g wafta € aifdd sawr 98 U@

srfera wmeE 1w A SR |

. TE-gRAST ¥ ¥l v B AR dvfas IR A M # | e mvw & dpfove TR @

ford amua! Sov-yA P wEld gdT @ G QA TR 3T B IOV-99 P AGH O T
o 72 At # s 99 /@ meT B 2

 TAE Y B IR B ford BaA TH A g9 D el B | Uh W ARG O B e H

TR HYAT UF JA BT AYYT WRA TR € IR AT AT AT |

e ¢ & v g wrE) g ofda gaw gIar 8 o wwar 8/ afe R g
&1 IOV T8 o1 wEd & o wefyg dfa & weR A Y Wl g @ @l s S
T HEA W I 3 R S|

W Pl 3w qRael B TEYR P AR ardl g aul ARM Gl g & g
Cad

Ten B IR F¥A-gRAST 79 Ire-gF TRe yad A v i < |

TlE AT B A UES U9eT Waa A SR o al ygafd T2t 8|

afy & apueft oder W sEfa wrAl @ oy aRar B @ ag Rwafiwren g iRy
¥ ®1 /3 AT g /B
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